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D C B A Questions / oy K
| J/c /”:JJ#; v.f ! 'f'E u'bﬂf'w",‘“um /uf’c’......ﬂé—fd”d‘iff l
| _ N | ‘ Horizontal undcrground stems with smlc Q
~ Suckers | Rhizomes Corms Bulbs  jecaves are called: |
I oS P i w &, i 5
| uf‘:._;_.;()t Jf_}-{’: \}‘O’ff'x i 3] ::ﬁ;..g'n(dfm;d/d’ré';.,luﬁu)gﬁ”.; 5
' Poribsios L L, C : In prokaryotes asexual reproduction occurs
1 aenesis F ragmentation| Binary fission ! Budding  |hrough: ;
' g 6 | 1 : 4 ._JIMJL}J.NJ'J)I.JG,, f 3
| ) Ihu numbe }Jﬁ\q in pelvic girdle is: L]
y 7
. V24 S (2 P 1/ -—Ul"\!f’/\f’ A
__ Neuron Cell body Nephron  Nerve : Of nervous systent is: I
T S % R s a
v!" 3‘.‘-':# J—. "5:1'&:’& V."" t;’b‘ F‘ b;‘t -UG "',F" H ._L;Job" i.o"", u‘ I 5 !
!Mesophytes Hydrophytes = Halophytes | .\e@i%@ These plants have succulent organs: - ]
1 uh @ (}U{‘:.t.i LE. —e bl S 6
Brain ' !\lveﬂli Tr “"l(“(“ <fi> Lungs ]l\ehplldt(ﬂ V' center 3\ ’UL-‘“LL] i i
! |k I ) » - 1
AL G YT sdedfbeuRi ey 3 .
| . . @ | ’D:gmhs is obtained from the leaves ot , .
| Cannabis Opium .\'gluvc i Detura | i '
‘ 5 ; : p ant, . |
r ;:"{5’,,,,:' o aald )T Y- i ‘.‘-?-_.JE:‘:‘JMLJ:’JI;H 8 }
- Uroki | Bem- seferons © Thvmosin | Which one is a pain killer chemical? :
| Urokinase ' endorphin Interferons % Ihymosin l ! : L i ]
| L ‘ - ! w‘f BBt LA P e .,f;..:t’ :
' -'4- ) ¢y }“ . ‘!| . b 2 ! )
CAE (Al Crmm:icn I (Fv 3 The relationship between et U uw! 9 !
‘Competition | Parasitism salism ¢ Mutualism | ‘two different species in w hich both get { |
. : o :benefits but neither is harmed, is called: |
{ , 4 . : = ) - s -Jﬂ o e -.-J" o .i R t, v
L.(J,LJL U'-*I,Lj i d‘-"-'g : U-J’gjt U’J & e L Bl vt a2 J} Ve il ﬂA\f ' 10
‘Moroholoav | Phvsi Py ‘The smdy of inter relationship between
| orpho OBY Physiology Ecology Mycology | oreanismis and their environment is called:
| t ..»_,l.wdmu?» Hloval J’ifm.,.. ,dvl
] 1
3 2 ! The number of hydrogen bonds between |
cvtosine and guanmc Is:
£ 3 ¢ Ve L P
9 Cb - & “{‘; h-—"-‘- vy J-v 7 J!,J)’"r U,.'b .’* U.&" {{NA A
" selioe o’” i 4 o 4 . a0 * i ' ]
ST I = 12 The step of joining specific waEik ol 12
Duphcantan Replication 'I‘rauscripliou Translation ‘amino acids according to the sequence carr u:d i

'in the mRNA is called:
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(Part -1
10 Write short answers to any FIVE parts,
What do you know about structure and functions of alveoli?
How inhalation is difTerent from exhalation?
What are atlergens? Give two examples.
Write any two adaptations in hydrophytes.
What do you know about renal pelvis and hilus?
What are Sclnvunp cells and myelin sheath?
Define nerve,
Give two functions of frontal lobe of cerebrum,
10 Write short answers to any FIVE parts,

Define skeleton.

501:45 1y
f U )
éa;l?/# Loagiedf

e ".\!( IJ :.‘: 9% POk ‘VJdﬂ!ﬂ (i)
e A .,ﬁ""‘;' =1 (i)
.......:J"iﬁ'u \_,._,h'_).v Ca 0 Gib)
m‘élf £ qu vrug (iv)

vt,g::,,wa .-;..J";,n ?'1'\,"'15;’. (v)

ns_.mJa.. i (v
ey A6 Gii)

...1_/ idv’!m.....,;f/._, o i)

.J..,ui/’ Lmétaﬂf

O -5-4,’3‘:"""" (W

What are immovable joints? Give an example, p ’-@

Difterentiate tive sexual and asexual reproduction, (\O -53::'\3‘5;,54"?\:‘: ’ """ (ii1)
What is grafting? How it is carried owt? & %% .__,JL,JV 2w e A il " Giv)
Define inheritance. % . _;"f_.é'/‘ d (Inheritance) = (1)

What are genes? Where these are located? "s.—;?d‘.fJE.uL,f L fenare 2 (1)

' @ i Al asd et S i)
O@ Pt Pl P s i)
.aLwﬁL.m&tc_Jf -

v s v 38T .
fetbsyd S ol riF s .::'._:_.'-.:;b.;- = (i)

Define Law of Independent Assortinent

What is co-dommance?

10 Write short answers to any,

Why flow of materials ha
What do you know .d@i Tl LS D odairt ::'e&ua.;._r,i (i)

How cpiphytes show cGimmensalism? Rl LR ot LA, e i
ER AN D ’\"\g'/‘ Civ)
el L ANS RS (v)
N S /5 A (i)

S athod (U2 )u,.;,/-ﬁdu (vii)
What are broad-spectrum antibiotics? VUL?JM_VJ* ¥ &d"ig fg Halviii)

LA 09 Ly s ,:f”uth ......:Allrn.::_gf cf.u,.../?
Part- I, Attempt any T WO questions. Each question earries 09 marks.

s YL 6 Lo s ione ik e sidetor? o (Ln 5
What are the characteristics which enable lmlophytcs (o live in sea we uu"

05 Write a note on human skeleton. -.c.;.’./ 7 F iy u% JLJI )
04 -c_h'/)lJlJ/L;I(ﬁdhuJ:"’Ju /b)lflx/;l(,/’ufd"bul () -6
How does adrenaline play its role in exercise and emergency situations?
05 ?Lﬁd.kgé—wgé.){fé.c.ﬁ.)g/' ?‘..;:l/,t,fc../.’;rr"” ()
What is tissue culture? How new plants regenerated by using this technique?
04 What is importance of single cell protein? ‘aa;*:@Juﬂg)f J{" ) .7
05 Describe the mode of action of vaccines. S rb’L;'{-{s ()

1019-X124-60000 -

i producers to consumers?

tmospheric nitrogen fixation?

What is greenhouse elfeet?
Give two advantages of using fermenters.
Define vector and give an example.

Write two etfects of marijuana on human body.
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Ay
1

D

i C B | A Questions /< Uly 27
” t Sy ok K ; < b P WAL NS U 2 a4 -
. s | _ 'Co:mecuon estabhshcd between embryo and
Horns Cervix Placenta } Follicle uterus wall is La”ed i |
_‘; ! 'zt. “ FF -
usS (= ok ‘_j‘d-f f r’:"' JY ‘l-ﬂf‘:‘(’/f’/: KUJ‘-S .4
Corolla | Androecium! Calyx | Gynoecium | Third whorl of flower is called: | '
b e ~ 5 : . } % ( » I
U i (WAFIERL (T K R 'O mie o Jur 4o 2 %
) ’ . ! Rheumatoid G T .. |Deficiency of estrogen hormone can cause the .
steoporosis| " 0y el out IOsteo-atthrms discase of* A 7@/}\ N
| / S o s it ]
- N T “ | Which one\decredses the calcium ions 4
Y asopressin O.\) tocin | Caleitonin | Parathormone congé ign'in blood? o |
Lus e ¥ 4 ; i W&u by deade;.de.d \.Jl....,:f o
U": o i o @ 1one is reabsorbed in dgsccndmg limbof! 5
| rea . Salts - Glucose W ute op of Henle? ! B
ATk | AT e P eenelie F ifube Aol
Carbon Carbon |Whu.h gas reduces the oxygen carrying b
dioxide monoxide Amnmma (\\\‘31 ‘capacity of hemoglobin? L |
L/’L U-UBL«.ﬁ )*, (U'/ $ .t}"'!u"—'!chJ“st— ’J!A-l! |
T He t"t' bd\\ard Jenner introduced vaceine for which i |
Malaria epatitis AIDRY 2 digase? ‘ _!
AL Js ﬁb' 3};:#».,{3?); \ﬁ. e dl’.;_. ’fd"‘;’v’:*@'"f,i 4
ormic acid | Glycerol Ethanol ~ Acrylic acid  Product used in pr mtmg Is! .
‘ , ?V'?C'Etﬁb.—’u 17 ( ’(’ /u. ‘f“lj-”( ﬁb\f V
4 3 & i l ( How many tones recycling of paper can save | 9
| 17 trees? |
| ]
‘ﬁ:u r}‘g}, | r]f».:flrl,:i- ' K J':( ; :._twltvwmﬁ'd o uv,)...;,}su'u n!....f' s
5 d'"’* M ’ i . i 'Tcmutes :md protozoan have which symhmtu 10
redation utualism | Parasitism  Commensalism|re[ationship? B e B
| ‘ B A ST RRYY 50680 1
Yy o omyy | ReYY RRYy  [Ifround yellow sced have of w1
| . ‘genotype RRYY, then a true breeding wrinkled
l 4 cgreen seed have which genotype? e
Bty Sy LA L g fema A LU O e EYDNA) i
Adenine Uracil Cytosine | Thyamine .I0 DNA nucleotide guanine forms pair with:
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(Part-1 : Ji»)

Write short auswers FIVE parts. oz B Lol
» b
write names of allergens which coause asthma, Y, RO g géfggjl;w. (0

T.;:..Ci:::..x[n:._t—-'ﬁ)yé.' Lo i, L ,.,(’ﬂ.’,u,. (i)
Why s WING SCASON MAY Prove more iﬁ'i"“iﬂu for asthma patients?
¥ 3 & : !

Deline double pnecumonia, 2Ey S ds G
DifTerentinle osmoregulation and thermoregulation, -c',fC' uJ}‘u’J’J £ 2 m.;f" £y (iv)
Wwhat is dialysis? Write natmes of its types, rn.f.,"w\; et sl il (V)
Write munes and functions of any twao lobes of cercbrum, > /J’ o MK u’ann’;f e (Vi)
Why vitamin-A is important for our cye? ..,.d.u/-’u:f;\ S LS b
What is mixed nerve? Define. NESST L I YIS PR RRTT))
Write short answers to any FIVE parts, ..{_".‘,r.:.;l:‘t/‘f C-IZ!&};@JJ’
Write the role of tendons und liganients, LB L S )
Write two disorders of human skeletal systeny. L_.ru,J' /lm..-af ;..("J Julsadin Gi)
How does reproduction contribute to the contimiity of species? JJH-A' ¥ \fu u-,fd'-\f b Hid

. > i
*‘h_\,,-f ‘b...'.., g..vr’{,-_’ ;)::’cg.r'g :»-:',"‘\;,-t_. {iv)
How does binary tission work in bacteria and unicellular cuknn oles?

What are traits? Write two traits of human. J‘ddv" h,ﬁ_._., =7 (W)
Detine gene. Write symbuols of gene lor any one trait, e o 1S e e (i)
What is variation? Give two sources ol variations, g,»i‘,r,m._ DI i !._. =t (vii)
What is meant by breeds and cultivars? @\ O ICI TR o ,r,,.,-(\ iii)

Write short answers to any FIVE parts. % _évu:f” Z.yl}lé,tc_,&,
ofine assimilation. AR T ¢
0, et 5 Uv»'tu.,_,f’ ;,‘:Ji vy Bl PSS .',’L':\,?';..:»'_“-'{' o)

How intra-specific competition is more @ than inter-specitic competition?
& 1 ﬁ...'.J'.'!\,k-’; i)

How predation helps in nmil%K vecolopical balanee? Yo JhsatEadaoni gy bk 2o Uiv)
What are thymosin and Siderphin? “?-_r ‘;-';,.,L;-,!;_a..-e\;,’ e ()
What is use of ferm T&x\\ in dainy products? QO L TR S R e (i)
How morphine can be obtaingd? ‘e .:u..,\, C "‘\, \,-,-:.v. (i)
What are analgesics? Give two examples. il Wiy "‘,Jy’\j‘- * i)

09 L e c,{/f.:‘u:?“:.:.wrn-- df.(",u,.p
Part - II, Attempt any TWO questions, Each question carries 09 marks.

.

-l

-

ubu)f’/\fﬁf-i-dzr'a/u-.c_:/ () 5

Describe the process of selective re-ubsorption in l\:dmy

s erladur B L2 L33 te S ()

What is skeleton? Also describe the components of human skeleton.

Sl ﬂ(Functional)ayﬁ;sl(Vascular));Qs..C(""u’:/' () -6

Describe the vascular and functional disorders of nervous system.

e e 5. LS P p s (O

Describe the structure of male reproductive system of rabbit with !hc help of diagram.

Write a note on single cell protein.

Classify the drugs on the basis of their chemical properties and mode of action.

1N2N.X1724.4R0N0NN /-/

-..,./ i..«)’/g-s/g,t'\}‘" (il 7
» fg/.drlf/:b'p(&)l:rﬂﬂaur" dVerLJ}. faed
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a._uﬂ);tﬁﬁ:iwalbﬁ.._alz:—wédu:fl:éfé.:&.L—ﬁJ‘rﬁ{Qﬁ}iz -u_ré‘:é.m »CB -A-*:Uft;@&[-dlrﬁ /?‘Jty
-fﬂl%&uﬁ ‘;@JfJLfUM’LL&,O,ﬂmyQ.Q -y I
D C B A Questions / = Uiy W /ed
S ik de S SR W W elatdind SFom| 1
Antibiotics Sedatives Antiseptics Analgesics | The drugs used to reduce pain are called:
e s Al g | 2
+2008 #2006 +2004 »2002 In which year, the complete map of human genome
) project was published?
sy s | s /zﬂf/z e bl i LT i) 3
Producer Decomposer Sczi‘;‘;f:g ciﬁ;ﬁr When we eat onion, our trophic level is:
P X s | \ Ll AT 4
‘ How many typ’é@p ological pyramids are?
. ) " i b i ~— - -
b o’ ) oL O N AW el | s
Nucleosomes Translation Alleles Transcription Tbegkeﬁatc forms of a gene are called:
B SYIE LA A g R fe b Kt AL B S B 6
7 e R
In pharmacology| Intaxonomy ! In microbiology | In gensﬁi(t@ }n which branch of biology we study inheritance?
= A = s <\ Y ('C-E*LU'U{"’éﬁjUé/L}tU”ﬁ v
Anther Petal Ovarywall |~ Oéule wall | After fertilization in plants, the fruit develops from:
. LA U . -
Lo IS Sl Y S ‘e nfits”| 8
Human Rabbit A}@@ Yeast In which organism budding occurs?
26 24 ( 2 14 R US‘?UJ SATZATIN
R How many bones make our skull?
~ , - . 5 £
l_/K( (137 e JUL AT & ?ﬁ'..@(cjfdj ;_-:.gl,)f 10
Cochlea Ear drum Auditory canal Pinna Which one is not a part of external ear?
J”:‘.’{ Ut SHTF UJS/’( 04 0o ?c‘,,t')fﬁ};,.ﬂjjuf J:L)j{:}}' 11
Bg;;’;::i‘g . Renal artery Glomerulus Renal vein | Blood enters the kidney through:
J':!-,J J’E‘{ bn d& ;L}”@,M_ch,u:%_'k&y 12
Lipids Glucose Air Water The lenticels allow to pass through them:
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10 Write short answers to any FIVE parts. -é@&lﬁ/gﬁ'lzléscéf
What is passive smoking? e :[/l[c..&:" B ()

What are carcinogens? Sesl e 2k (i)
Write names of two steps of mechanism of breathing. @ ( tL S pasdl J’f L‘f?; (iii)
What is loop of Henle? : el HITJ  (iv)
Define lithotripsy. | il W
Write difference between motor nerves and mixed nerves, _a OAS 575 s 30 (vi)
Write the functions of hypothalamus. . (§L % 253,{; (vii)
What is reflex action? ‘-‘q_:l/lfa. u:‘{ ’u’g&} (viii)
10 Write short answers to any FIVE parts. -gaﬁtz/:.’szz légc_.éf
What is rheumatoid arthritis? ?“;.gfu:"i}ﬁi’etg, )
Define chondrocytes. ,g.f - /"’.Jui'lfuﬁg (ii)
What is vegetative propagation by leaves? ) ,4\ e (_/gf:g;{ 2 ;{’./55%. (Gii)
Define cross pollination, QK%)/ -:q{ - /‘.’.d/ vﬁ'dg(ﬂ/ @iv)
Differentiate between genes and alleles. @ -«’&g J}gﬂ.’ )-'-) a2 (v)

What is difference between transcription and translation? 5 @\O e J AU JM}J;W%/C"I} (vi)
» L4 b A s
Define co-dominance. @ _§4 /’J u"":"';ﬁ.f (vii)
What is theory of special creation? % ' ‘-'99; }" ﬁ:tt’d' ol (viii)
10 Write short answers to any FIVE p -l ék’:‘!ﬁﬁr'?.‘é&c—éf
What is meant by omnivores? O

Sl imil (i)
Differentiate between abiotic and bi

tjc\pomponents. -5f.: SALAZ 1B sl B! (i)

Define Ecology. _é: - /'JLQ;,!,{ I (iii)
- . ‘
What is difference between intraspecific and interspecific competition? ?a‘_u/gfu:ﬁuf .@—;f"w...@gr 1A (iv)
Write two advantages of fermented food. 2] Uk d:ﬁzi"gf’ I8y W)
Define GMO. . -ZEw/ oMo (vi)
What is meant by pharmaceutical drug? ‘ ?%)ygc;w;}?:fl/ﬁ (vii)
= . 3 » o - 8 s, Sk iy A8
Distinguish between antiseptics and antibiotics. _gf:’u/gﬂu{ﬁu"b’lﬁ(f'! (viii)

..uj/'f" 09 ZJivs -é}i@@b?ﬁ@ﬂlrva.éf «pdgd daas
Part - II, Attempt any TWO questions. Each question carries 09 marks.
04  Write osmotic adjustments in hydrophytes and halophytes. | -“é Wk wﬁi’l&»‘ugﬁfgﬂu:fli:%mu‘vﬁugy ()

05 _gf.:y‘lf.f (“‘}f C&’c:..JAJJ/ /&”gm)" /-:“ ?99?‘/3( Gt (&)

What is antagonism? Describe it with the example of flexor and extensor muscle.
02,02 Write note on Paralysis and Epilepsy. ey, fd.d’{‘f//;'é@ ()

05 &bt ok JEF e WG (L)

Describe the male reproductive system of rabbit in detail and make its diagram.

03,01 What are single cell proteins? Describe their importance. - kesifyl Uty JE ()
03,02 el M 2L I S bin 2t (L)

What is meant by hallucinogens and marijuana? Write their bad effects. »
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-fmraﬂivl?wft S h—df'J Wu ﬂ&./d:}ubu&.fc_uf -é)/ 1
" ¥l
D i B A Questions / o Ul A
ek Ujf L U%{l U};‘Uﬂ W dﬂfr...«b)ldbé../r (;.IJ 1
Sedatives Antibiotics Antiseptics Analgesics | The drugs used to reduce pain are called:
W2F o el 7 e Hebsgdindh| 2
Interferon Insulin Thymosin Urokinase | Which is antiviral protein? )
s 22 s ~ e dodenipdis| 3
Tapeworm Ascaris Virus Mosquito Example of \}cmasxte is:
I T o iy e Uh2 B I EI| 4
Omnivores Herbivores Oxygen Producers | Which i 1s t1c component of the ecosystem?
v e A 7 P s 9 A0S T s
Traits Phenotypes Alleles Genes Inherited nhafagé s are called:
éb’é’fgu’ﬁfdfﬁj_é._& juz_d,u- 6
29000 28000 26000 24000 %mﬁy pea plants were used in the experiments
12
o \»:
SIS b £ Bgy, @ -] }’(luslaJLfc_ J(u";:/ JJYC el 7
) The simplest and most common method of asexual
Meiosis Spore formation Budding reproduction is:
= f =H | el %Mﬂmf e Uk AL A Sy 8
Anther Petal Ovary )N\ﬂé\ vulewall | Afier fertilization in plants, the fruit develops from:
N ol S Lo’ Slukf {9 P JJ?O{LE}J-;JK 9
Osteoclast Collagen I~ cytes Chondrocytes | The cells of cartilage are called:
R ofgF U e A Zirgrivdely| 10
Pepsinogen Glucagon Thyroxin [nsulin All of these are hormones except:
) o ; =T ?:‘:../’),.»5 {i—/ /"b ;( P UCTLJJ( 11
Kidney Stomach Liver Intestine Which organ is responsible for filtering the blood?
o s 3 . spdeu =l 12
Many How many bronchi are there in the air passageway?

1018-X123-48000
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(Part-1  Jjldiaa) FED-2-23

Werite short answers to any FIVE parts. -gc.a&l.f!/‘?é:ﬂ?.lé&céf
Describe structure and function of vocal cords. -é ugd’im:»‘u&bﬁﬁ, (i)
Write symptoms of Pneumonia. -é‘{ j«;«wid, g:" (ii)
Write harmful effects of smoking on teeth. ~E il ed 1i yutnd e (i)
Briefly explain the process of guttation. _é_-»u,ﬁ‘?‘!f Lu’-’f (iv)
Describe two characteristics of hydrophytes. -gful_f.gfl}”z.’.- u""/b'u.‘éf L)
What are receptors? Give two examples. -gf::‘dg Bars o Q”/ f,fv (vi)
Describe structure and function of sensory neurons. -,éugd’i,s_-éwf sl /‘-.’ (vii)
What is meant by myopia? ?g_;ytfc_g,nz.t (viii)
Write short a;lswers to any FIVE parts. -4‘@&&/3”&"2' , gc:—J:(
Define exoskeleton and endoskeleton. ..é'-..éj j:"J 55 dl sl (EF r-( @)

~EOMES 2L i S 7B PR fnT (i

Differentiate between immoveable (fixed) joints and slightly moveable joints O\
Write advantages of vegetative propagation of plants. p & 4 -Zgﬂ}é ﬁ%{ﬁ(_f’:&g}»@' (iit)
Define alternation of generations in plants. @ -5’,‘5 - /“’.d’ﬂ )ZJTQ%/"TL): Unyg  (iv)

/\/ O : 3 4
\E\ -EukH S DN ()

Define DNA replication. o

Differentiate between dominant allele and recessive all@% ' - J)utdfin”-wu:' e (v
Write two main sources of variations. %L\\, 24 dlu‘c.fw[,:al,é’ (vii)
Write names of four inheritable traits in hll?l (9) -értépé}{juﬁkgﬁuul (viii)

Write short answers to any F

“parts. A2 e §f

What is eutrophication? Give its on. - (1 St iaSeil Sy (i)
Define assimilation. _g; - /".Jug-'-"d: b (i)
Describe inter rclationslﬁ pbetween sucker fish and shark. _ -{5 uw"’ ? WJ&AIJJ £ (iii)
What are effects of ozone depletion? ?@Lna!}l lf&(f’ Ju:):l (iv)

What are interferons?

SUAAE ()

Write two important achievements of genetic engineering. &l ULULQJ If(" £ e (vi)
What is difference between analgesics and antibiotics? V‘Lu./guﬁu’gf LG‘W U'QU" (vii)
Differentiate between bactericidal and bacteriostatic antibiotics, OSSRy 25 S 25 (vili)

—U.?ﬁ} 09 LJivz -’ﬁé{fawz&awﬂ:a.éf cpdgd dias
Part-II, Attempt any TWO questions. Each question carries 09 marks.

Write notes on Xerophytes and Halophytes. ‘ " &]4&%:,“7‘4;!&15:{) ()
What is arthritis? Describe its types. _éut_,.(ut&; J Y;.guf’ ,'/?JT (o)
-.éu.{_ub/( )/‘-@‘l 2l J/‘{“'Ju.fdigljédbg (3

Describe the role of receptors and effectors in a coordinated action.

- e sulbFer bl L PUAR /5P A (L)

Define binary fission and explain the process of binary fission in bacteria with the help of diagram.

Write objectives of genetic engineering. N £ PRI ()
Write a note on narcotics. - &]{U‘%t (L)
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eSS Sifprmient Z| 1

- D 7 C B ﬁ Questions / =l J'Ei
iiﬁ k! L& Werfls Ltfﬁ;{.ﬁ;:lﬁuk .t,ﬂ"rl-‘lri I
Planarian ! Amocha Hydra Rhizopus | Which animal reproduces by s of b
T ’ ' G LA Laarbs i 2
m i SD&% 0 Thc adult human skeleton has bones: ‘ |
.-ﬂ Ak | BARkb | AR Seha A 3
Liver Pancreas Gonads | Adrenal gland Insulin and glucagon are produced in: |
n 0 16 12 KL i LAJL.;”{ﬁ; 4
A ‘ : l‘(spmalmmwﬁmmalmﬂ | -
. | . ] PSS S E A
v E g : ! H& kidney is centimeter long. ]
- 6000 5000 4000 3000 @ -f hﬂg;’ﬂa lsf;‘r-'%fl:? L
ﬁ _ - i Q ; Tmnmkﬁmm dlﬁeaim*
» 2004 #2003 «2002 2001 muﬁ.jﬂmw 8
: | The complete map of human genome was published in-
f)‘iff Wi L.?:LFJIM;‘:!DL}M._EJ %}ﬂffr ¥
(Organisms which break down dead complex organic ﬂ
Consumers .compounds into simple compounds are:
Sz w3 B = _:—E?n!,gxﬁrbf 1
Frog Fox ir ‘f| i
£ e e N T
The branch b
Genetics Ecology mll:d of hz‘iﬂlaﬂ' in 'aﬂm:h we !!I-Iﬂ}’ miﬂimmg is |
| Vot f,swyc_ﬁéw@%giuz sédkr 3
13 il
|
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I Write shorl answers {o any FIVE parts, .élﬁrﬂ,!ﬁfﬁﬁ.ﬁzrg&g,ﬂf 2
Write bad effects of nicotine. ot L EF @
Haw will you differentiate between stoma and lenticel? WL PLA TR EA D
Define alveoli. EaAlled i
Define transpiration. AR
Write the names of parts of renal tubule, Al ytLed W)
Define involuntary actions, Wirite its one example. ' =) Jﬁﬁ.ﬁ&ﬂ;ﬂé-_g'ﬁ( fs‘: !J.M,f {wi)
Write the symptoms of tetany. —— 'ﬁ ,&L&m{ J? (wui)
Write the function nf&u]m:s ™ Lt -J £ {viii)
10 Write short ilmsh;lhm aa Fﬂ“E pﬂﬂﬂ. -gu}lﬁ,ﬁﬂdjiéla{jf -3
DifFerentiste betweekrisTockeleton and exnskeleton. zﬁ.:’w: Hu e @
Write two exsmples each of hinge-joints and ball-and-socket joints. _ &8 Bl fle st e Lo Lzl Gl
Define endospare. & -Fi Al i
What is aliermation of generation” Te a2 (v
What are inheritable traits? o {&%Q . ?ﬂguéfjtf iv)
Define allele. S\ ALK i)

ldentify vwo traits of pea flower studied by Mendel.,
Write phenotypes of given genotypes in pez: REY'Y
I8 Write short answers to any FIVE paris

%@5— Jirdbe iRl st Lot AL (i)
VY . RRyy , rryy gﬁ'!:"tﬂﬂk}jtﬁi.{_gﬁf i)
u',lﬂjﬂ&lﬁlg .:—_Jf

gf-eﬂfm.ﬁ @

Define species.
Differentiate between heteratrophs and-syidtrophs. .,_é-ukﬁiﬂu"ﬁﬁﬂuilfr V-l (1]
Define parasitism and give an example: —Eaeag s Al (i)
te e A IR el BEE Flnded ()
What is meant by the concept of 3Rs with reference to the conservation of natural resources?
Difine genetic engincering. EAIEA g W
Write the uses of formic acid. el LA i)
Which drugs are obtained from minerals? fpuetuisi o Poe aboe (vil)
Which is the most commaon method of administering vaccine? ‘E’-LJ:HJ%(' b fg-?wfg (viii)

i 00 Ly ZEpfe2l mtirme i piyaca
Part - 1, Attempt any TWO questions, Each question carries 09 marks.

Tl él UE:JE;-J) K K}f Ttk L«fféilﬁ;f;’ BE g () _s5
Describe the mechanism of removal of extra carbon dioxide and oxygen in plams

05 Define cartilage and explain its types. é uhrumgi—y?if &Ef (&)

M Write a detailed account on pancreas. é;iﬁﬂ.f‘ () .6

3 Define fertilization and explain its various types. =._é;:-% '-5!{5[‘ L-iid,uﬂﬂ-’é a-%";"ﬂfd”if ll;;,,:! ()

t  Write a note on drug addiction and associated problems. =) .;J,;J b 3l 2k Jﬁr?‘ () .7

- Write basic steps in genetic engineering, & S 'foJ&“L-f j“-{'*—&' (<)
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12 4K 2415ty 7466
gﬂfﬂﬂﬁﬂ?&bﬁ*uym.mwﬂm&dﬂ{df& BLED i € B AcNZELIrg| i
| &Mw@:ﬂﬂL&LﬂL&ﬁm:hg_g 2|
D C B A Questions i ..E.;Hr .,E,-f
5 3 4 \E 2 o o i -'Z-Ei'u _JCF. “B{ |
i | There are __types of pollination.
e vt "ﬁ a #—d%ﬁr‘iﬁﬂ.ﬂf;‘?&-aﬂh
Thigh Swpes Incus Malleus The longest bone of our body is:
A W o .pr’ruﬂlf di—dfﬁuf‘l} J}ﬁ P
Estrogen Glecagon Insulin Thyroin :”'I‘hymid pla J Juces __ hormone., B b
‘ . ) | il JE
. ’ . : | E" m:‘Emn has companents:
 Hy Ny o, 0, Q e Sl I |
A , (7, Which is a by-product of photosynthesis?
o | W o 58 e &z
Lungs Trachea Oesophagus é@h | Masal cavily opens into: -
itk S T e
o - o B A G{LM A
+ 1998 7 #1988 1978 | LN !E’iﬁf ﬂ Hummimulin wﬁj:: u » I
ﬁﬁ;ﬁ'ﬂu;u B Dol ar bh;"?ﬂ;.fﬁ |,II!'="'I',{r ; l_ : ar "%“-r“kf R4 L=t
Refoprest Recycle Reuse Reduce  |The term R#mcms " 8-
s 4 3 2 R i
| There are types of dengut irus.
" . e e WU Ut e
L L e | AP When was Watson-Crick DNA model presented?
45 13 10

e Sl 2 J di--"«ﬂ

A human cell has chromosomes:
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Write short answers to any FIVE, paris,
What are lensicels? e 'ﬁ"‘z"lﬂdf -1
o :'ﬂﬂw:ﬂ s rmpeion. LN goens* u.!
- q ﬁnmx von ol stomata in leaves of plants? Fhﬂwf@’f’ﬁuﬂ Lumg (i)
Whiat i the &ifferomce between guttation and dew? eI v
What is glomerulus filtrate? Py ﬁ.; '
What s the funcrion of emporallobe of cerebel cortex? t;y’,;-g{r_.td,,-‘afm# & D
—— B AL o
Write short answers to any FIVE parts. _é_,pgﬁ&lzr‘ e 3
Drfferentiate between compact bone and spongy bone. p QMU‘J_:-;; _._gf' (i
Wirite the hame of the longest bone in our body. SO AT L e (i)
What is muhtiple fission? @ WML LAGE Gin
‘H‘i‘llt I.'llmmg aof AIDS. O _ﬂ_,*gm{,,l (i)
Deliuscmssiooines. 2 LAl W
Wirite the names of nitrogenous bases. @% .&}-gf_‘ ARt (v)
What is translation? %5 gg’g""’u {vii}
Define Mendel's Law of Segregation. @ .é_gﬂfg'{éjﬂ b Jir i)
Write short answers to any FIVE parts, ¢ ey L ange i
Define mutualism. LAk ®
Differentiste between hiotic and abi ponents of ecosystem. - &#’lﬁﬁéigwhﬁﬁﬁﬁ b i)
Define food web ~ZpAlei? i)
Differentiate between renewable and non-renewable resources. -Eoitfendbitndle v
Name two basic types of fermentation. : rﬁéf’ EG’:(‘W-‘FHJ#“&; )
What is meant by recombinant DNAT e hr:""ﬂ : %ﬂﬁf; BH&-H\.E{S,; iwi)
Differentiate berween medicinal drug and addictive dnug, LT e Il i)
What is the use of tincture of iodine? e "'mj""‘}q _} Fi2 ’H’-';U‘:" 'ﬁiifufxf {wiii)
-u;'!r‘ 09 L vy 2 % 1 ‘._rlél‘maf spdgd das

hn 11, Attempt any TW lr" gatfon hm:h question carries 09 marks,
Explain osmoregulatory function of kidney. e’,-'-‘ubf lf/'i;ﬂ"'l” oS () s
Explain the components of human skeleton. 5’,‘: o k3T u;"’f.‘: ot L ()
Write a note on neuron, R oS o () 6

é e bafud Sl {ﬁ* drituny (L)
Explain the methods of antificial vegetative propagation in plants,

Describe the mode of action of vaccine. LIS ()
Describe any five achievements of genetic engincering. <= wUl Vel I’éagz-njfﬂ. Ny ()
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B I 3T L N7 e SN s\l Dy 17 ~BLE D sl C B AL L

Ay
1

_rﬁ/r‘.’w..-'? wa Julf&(../“/w( l&-/Ju:/bub;...ﬁ ’é:/

p | ¢ B | A Questions e k-'/
| . gl ! 7Pl B PR b
";U’A’" (‘" l Veals | GFev ’ P "L.J LJ’»KJ'”J‘;(; 1
Diazepam Aspirin Digitalis | Morphine Q\' nic? ;.
LT s § N ' ¢
TSt | P L | d LJD‘ : - %/_Mv;;/ )‘b’vﬁuu J{’ 2
- lan Wilmut Scrimshow | loseph Lister | Pasteur IWho mtroduced the method of single cell prolem"
i | 2 gt b e Falpd L oyl
.( arbon dioxide|  Nitrite | Ammonia__ | Urea Whu.h product is formed du;tgg industrial nitrogen fi f' xauon"
M » g i L
lig E L A DA | oL o l ﬁ blzia’l«’: ”.z’f:’.)v 4
Uracil | Adenine | Thymine 1 Guanine Cyloame always 93@ ! !
A ¥ | e 2 . o ! i
7 24 A Ll w‘.udc,/._fquuud* Sl 5
Varieties |  Breeds Hybrids J Cultivars l In amf@ié;\?ey tion, the bred animals are called: \ i
.. g —'ﬁ . P I b L ‘—‘l'—-—‘~l
i3/l ‘ yid ! % ! JAx :;_(wﬂy.dﬂﬂu‘; 6 |
Arthropods | Echinoderms | Mammals | Anncledes - 3 ‘
7 S| dg f_m/re’ 7
Walerlill\' ' Onion Dasheen | Pofatc |
s ; - ‘-—- - .'-— ] <X S | N e ey
a2V S Pagd bt p W’[.E” § 8
( hondrocy!e\ | Lymphocytes +“ ‘Mon, _ Oxteocytes | The cells of cartilage are called:
) | | : | TR
J | L,'KQJJA’ r VJJ } o¥ds | QLGJV/LUKfK/l
Vestibule | Internal ear | ddlc ear | External ear #The tympanum belongs to which part 0 of ear?
- o »—‘VFRV-“—TAA. -;_ B ﬁi—”vf-, ﬂﬂﬂﬂﬂﬂ o a i
¥ A i S| Juy | JA’.,{ : WS uu';ﬂ[” 10
Embryo | Gametes |  Gonads ‘ Glands | Testes and ovaries are called: - P
I U alle . + TS 1 - o I i
\.f.:: i PG y .E/:’e ] Jy ? :‘a-'dt’u/“f.s"'/} | n
Cactus Sea grass ~ Funaria | Waterlilly 'The example of xerophytes is: ‘ -
N - j i
L L e i Limdi st Ll
’ N | ) 'Percenlage of oxygen in the inspired airis: ’ ”__,;

517-X1 19-46000



10

10

o=tz

_; ol (duw)‘f;‘rt
AE B 0145 .2

( Part -1 d)‘ Aaa )
Write short answers to any FIVE parts. _Julliffé:ol!lélc_df
‘2‘.../'“0;}:/&& cLE Ku'z'hd/bf/ (i)

What is the importance of C-shaped cartilagenous rings in the wall of trachea’.’

e

What is the location of stomata? Write their function. -é_{fuﬁl{u' St Z_'k.vz_gugfi;:r:’ (i)
Write two effects of smoking on circulatory system. -é:—'?’v;(.’/dﬂ:fzé..@’:’ (iii)
What is meant by metabolic waste? ‘.'{.__)l/l_f_fc.g )&zgd:(ka (iv)
Write two problems after kidney transplant. -gi-’_/ﬁ)’vné oL T (v)

._a) f’ { fv's/ (v1)

Define nerve impulse.
What are the two functions of meninges? ‘U":'.yuw'ué ;’f (vii)

What is meant by hypermetropia? by ;'/Lf‘c:.b 1y -f. (viii)

Write short answers to any FIVE parts. -J..«Ui/"ZrV'Clc.d/
":_:'/L«f- ’/y’ ()
L3 pundeagied i

& ‘
= ....a'/"g,(g e a,;x:-.f".' (1)

What is meant by antagonism?

Differentiate between compact bone and spongy bone.

ﬁ L UE, }’;J 4

Define vegetative propagation. Also write the names of its two me{hods
Define alternation of generation. r"_' ..»‘/J <211 (iv)
Differentiate between spermatogenesis and oogenesis. @ %@ ._ ‘/V..v f”-':::'n’v’"'"&? P
Define the term genotype. Also write the names of its two typ%© _é‘.’f;uéfwndw -é_ﬂ/?&._f’kr:’ (vi)

"/vc_ V/{_'r‘;" (vii)

o

What is meant by Punnett square?

Differentiate between dominant allele and recessive al év u- V’ vl V‘s.u.x.u 13 (viii)
Write short answers to any FIVE part O -é Lb’/"ZyVlétc’df

3 ’V,-"’;.)'r‘“ 25 ()
S OIS T e L (i)

Define food chain and give example.

Write the difference between biotic

p . 3 E eI ¢ : af
Write the names of two carnivorous ol Ung ey (i)

Write any two uses of fermentation. o - "b:"u,jyz \f!’f) (iv)
Define fermentation. Also write names of its two types. -_é,;f;(’t.;_ ilas *J‘ é_i'/‘-’.jg ‘_";;- (v)
Name two narcotics obtained from poppy plant. A g CLV s “'g—fuy‘PG—v’: (vi)
What are the uses of carbolic acid in surgery? S U /bﬁub@-d 2 (vii)
Write the losses of taking heavy amount of Marijuana. ?ugz_xaru"y’;.; ‘W'ﬂwuu‘) (g2 (viii)

A 09 L ezl e (f pig ddas
Part - I1, Attempt any TWO questions. Each question carries 09 marks.

- A =z
Write the osmoregulatory function of kidney in detail. -_Z‘.:_/f:.._}:‘yfdﬂ:fm”lb’c_:) (<)
e 33 .
Explain coordinators and effectors. -éyu,&/“-' P ATEY W)
Write a detailed note on arthritis. ...A’&”/u’"/’;f ()

;J - ‘u}:g'!/ ’ (....-)

Discuss artificial propagation in detail.
Write a detailed note on nitrogen cycle. &=/ 7 ,!J’“} gf’ VL ;/l: ()

-é&{ﬁ%s'ﬁdw.uﬂ’: ‘-‘{.:l/k:(c./f/ ()

What is fermenter? Discuss on batch fermentation and continuous fermentation.

517-X119-46000
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and nitrates from ammonia is called: l l

e e el st s

-f:urjwuliuﬂgﬂuu‘ufcf.‘/ub’ LL/JU;/'»JM;.J L7y 2
| a1 T/ | o S
&= - B % A | Questions / uUir Jlr/
| S -——v———-‘——————h‘tb_ . e PU— —— —— e . e RS—
I FRAURS | Ky e A5 L u"“’u’gb j»prkad,,,n 1
| Vasdeferens | Seminiferous | Seminal Follicles | Some cells of ovary prepare structures called:
| twbules | vesicles | Folliks ottt L it o o
4 3 ‘ 2 | | J'anuu uywvnz_g‘ow,'u',ti 2
r — s b _ JM" R .Hydrogen bonds present between adenine and d thymine: i ;
f s 21 : ﬁi/‘m i A ‘, S u'd.Lbfurd..ﬁzglu:’uu'gjﬁ,?u‘;f’vtr’u’ i 3 ;
5 ‘ The genotype in which t contains identical
| Heterozygous | Homozygous ‘ Mutations g Locus allelgs areig“;d ‘ (5 )\ pelr coabinnidendlos \ ]
J. { , 3t f o \/ - i
f d"oJ LU ( = g A f @ gtibfb-b’u‘/tzs'u‘lftc.br'l 4
| E'i;’ﬁ;:‘ | Nitrification iAmmomﬁcauon' Demtnhcauon
bt =

e {,__

I Transmitter

'Ab/ﬂ/ ; 'Al.g_f_{'i/ ; /u?u-'ﬂ/ kf.'f/v

= . bt : . U"C’J:;Jkgﬂ-—‘-—’—«@" Lgf/‘ﬁbd.’ 5
i Transgenic ransition | . aii a . '
i _()rganlsm | _organism i 8 mﬁdﬂ@p«—i_?fncmduon 4 ,"' = il T?cifleil—geneuc = ughal;eia_llfd-“m_ . .
U'A' L\f' E L}dﬁ&o_gf' \t Z:‘t_’&' Mﬂ.\‘ : dett‘d(JfL/"C/()LJ*!Lr)
Antibiotics | Antiseptics | Antibodies | lemf G\ bich inhibits or kills bacteria within or on the body?
o \ fro—)
oyl ’ CX{ F :at'xb.t.f,cét T
| Abeoli | Cartilage | Larynx is made up of: i _,V__ L
| - E "! | o ST
| 6} i 454 c.u:'utzﬂc..c_»‘é// 8
| | ; i |
- {"E’f"dgﬁ der Resins . _&Ele material that are secreted by rubber plant: I
i "!C- [ Gl i J)'G’J'/ ( o I Cdmdf’d”/ 9
| ! | |
. Nucleus | Neuron 1 Receptors Nephron | The unit of nervous system is: ‘%
' s | { 3
BTN BV 3 S et brrle 7 i KMJ/J A e on 0
| ‘] } The union of several axons that enveloped by a covering
EF Dendrites | Cerebrum | Nerve Mcmnges made of lipids is called: \
e 5 i T e
A | omds E oo | C ‘A ndSA bw&.f?&f(l "
| Lacuna '» Collagcn__ﬁ%l‘_Inmsglg\__» | Glucagon | The matrix of camlage also contains fibers: —
STYY S wrd | oy | el s AT u"}:Lnl.f'/l 12
! " 1\ | The male and female gamctes are produced in specialized |
' Gonads ! Placcmd l Zygote [ Gametogenesis organs are called:

ey e i ]
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( Part-1 d}‘M)

Write short answers to any FIVE parts. ..,U:’/"Z'!]létcdf
Define epiglottis. Also write its function. c’.://u’upb’v 1A :.,_J/‘U/ Lﬂ{-' (1)
Differentiate between stomata and air spaces. e ugu}u:/{;.mw:r (ii)
What is inspiration and expiration? ‘e :‘/\[4. ﬁz v 'bs'cﬁ/.',ﬁ- (iii)
What is kidney transplant? etple e ufi;é;f (iv)
What is hydrophytes? Give an example. :JV e :’/Jc..u bwvl, (v)
Differentiate between aqueous humour and vitreous humour. -é:r 5 ’su/"ﬂ i SAusl i) ,{ I (vi)
Define coordination. -éi:bif/"’u/g}:ﬁ LT (vii)
Differentiate between stimuli and response. c":/-u-y "um' ilJrCV (viii)
Write short answers to any FIVE parts. -é Ui/"‘d:ol]létc,d:(
Compare compact bone with spongy bone. 'y‘h_w‘gfrffui .J*/ (1)
What is meant by arthritis? How it can be treated? e L'IL:J' “c.;l/lf‘/ \ "'/ﬂ (i)
Define suckers and give example. =2 p”'é' ""/‘)"r (iii)
What is double fertilization? In which plants it occurs? o @9ﬁ6iyu’um’u o c_v' /LL'/J (iv)
What is germination? Give its types. @% -g‘;fu&.(wu-.ﬂ ?q.gg =2 (v)

What are varieties or cultivars? ‘.'u_?ngf i ! ﬁ’b; (vi)
Define incomplete dominance and give example. @ -é: Jd@/!'g‘::.é//‘?g(v’%:'ﬂ (vii)

O@ S AL S (v
-J._.w/”ai,métc_df

"4_:i/l/¢.,{"rt (i)
and secondary consumers. -é&)u'.‘.')/:_'? dm-?»b/g/ dA; (i)

Write advantages of artificial selection.

Write short answers to any FIVE p
What is meant by biosphere?

Differentiate between primary cor

Define commensalism. Also write an example. -é:fu c,_{,”,é_f -3 /""u’(}-’u”}‘/ (iii)
Write two uses of biotechnology in the field of medicine. -a‘i.-.vviﬂnéd,’u?ﬂu,z_’.ufp (iv)
Write the names of two vectors used in genetic engineering. -Z.E( b J/"{.-n!_':iﬁdv;'u- jr:;'..&f:’ (v)
What are addictive drugs? S LratnisTd  (vi)
What is the use of sedatives? Write an example of sedatives. édl‘/.ﬁd')?ir ‘":_VUW’KJ:" & (vii)
Differentiate between bactericidal and bacteriostatic antibiotics. - U/J u’ LJ '.JEV! /ch; l/._;»‘* (viil)

A 00 Ly o fezl e iine 3 pigraas
Part - II, Attempt any TWO questions. Each question carries 09 marks.

How plants remove extra carbon dioxide and water? “u‘LlﬂJ&Lu’yU ’d’:y P 2y ()
Write a note on Paralysis and Epilepsy. -é..«i/f/»'éb (_,)
Explain muscles and movement. -é:) Lmdc:/r//s')/ ()
Describe development and structure of seed. - kS SUBEE (&)

What are consumers? Explain their different groups. -é.:) u;dlﬂ.-:)iﬂéul e e )/,_7_';"’( (<)
~Eerb§URSLS1E E SR (L)
518-X119-35000

Define fermenter. Also explain its ways,
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| ;cﬂifﬂdbwm.rvmgﬂmﬁm}hmbﬁgﬁq G BLLD 1 C B AAZN L e | Ay |
. Al i S SL S ekl Sl f| 1
- S — e m—— A E— - T - |
oo C B A | Questions f = Ul JP’/'.;
Ao | oW | ok gg T /el PR |
Antibiotics | Antiseptics Antibodies I}isinrmm,qg_s__ | Which reduces the possibility of infections on skin? i S
',.:i;;.-.‘, ! ,,u o f’ }f‘d o Lfgzg_'d el 2
40 tons 30 tons 20 1ony 10 tons e ® ?"’f‘_‘ FUIE Sl
) ) N 7 -\ Algae grown in ponds € protein per acre / year:
(Ve i d ¢ . @ m@éh;ﬂﬁaimﬂﬁ}&}“ 3
Al thess Puper ﬁlms 7 Plastic Materials ¢ ‘1.-, veled: - ‘
Lygous Mutations | Helerozygous | Homozygous | ih DNA are called: )
A 3 3 I g% WL ik Biology-10 FBD-G1-(P-
o § <X Hydrogen bonds present between ades 1).bmp
Z A B e G ufid. ) Type Bitmep Image
Gonads Placenta £ygote Slogenesis E“ T}f:::hﬁ?ﬂu UM oo Dimension: 2280 x 2440
S (A&l N S % :
_Pollensacs | Endosperm Seed Bt 1Ovule develop inte: —
& vl 2 B Qe e £EVUL e Fr| 8
Cartiloge | Ligaments | Tendons Collagen | They prevent dislocation of bones at joints: il
A Hade | wfades | sFk e A e e R L | 9
Pancreas | Thyroid gland Pﬂﬁfﬂmd Adrenal gland | The largest endocrine gland in human body is:
uf&i izl . & :q_t'mﬁfﬁdfﬂ!dﬁif 10
_ Pupil Eardram Cochlea Pinna Auditory canal ends in:
; g;' wi =i ; :q.,l:ﬂnL;E'.;:.-'_g J.gﬁﬁn 11
| Mucilage | Resins C o latex | Gums | Waste material that is removed by rubber plant is: _
JU{&' 3 L{.} ‘?L‘ q'—rﬂh&f{! 12
| Alvesli | Cantiluge  Trachea _ Gilotis Larynx is made up of; o
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( Part-1 d}‘*‘ﬂ)

Write short answers to any FIVE paris, j&ilﬂ.ﬁ#ﬁﬂ!'ﬂiﬁ.df
DifTerentiate between inspiration and explration. e S At i
Define seule branchins and chronis brenchitis, T;,Lr#fé Vo PN "J;sl.yf"i};,gaJ b (M)
Differentiale butween osmoregulution and thermaregulation, ﬁ;.@,hffudﬂf}r‘ﬁ--ﬁﬁﬂl (i}
Write the major causes of kidney tones. Fec e ingaldAde v
Daefine the kerophytes with example e Te el L liel  (v)
Witk bwio mnjor lunctions of spinal cord, .#kﬁff'd&ﬁ hﬁ,n"i-a {vi)
Whad ks meant by brain siem? fa Jlflf.:.l-t" £ (il
Criflerentiate between reflox action and roflex s, -3 J&fﬁilyﬁuﬂu’flgﬁ [wiui}
Write short answers to any FIVE parts. -8 ’ailﬂf-ﬂnlﬁr #aﬂf
Chiferentiote betwooy Biology-10 FBD-G1-(P- P L OAL Yl (i}

[hiferentiate boiweed Ej.hmp @éuhuﬂ ugjmflu;'.n-gf {ii}

Whiit nrg endodpones Typ&: Bitma p Ima ge "._,F.‘I&-"J.-g’@..tl (L]

Explarn stem tubers, Size: G05 KB % #—F‘Lﬂuﬂﬂilf v
Expinin sporophyte . [iimnension: 2420 x 3050 @9 bl rstive (v
What is genotype® | niyels Qz @ Tt (i
Ui lTerentiste hetween JEmInOn AICIC And receasive uﬂ* kI AL K, .-:l_,Ehg.%}Z il

Ewplain codominance.
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Write short answers to any FIVE

[Efferentiate between abiotic and bt oneis of ecosysiem, ,..5'5'-_ u;u'lfl..a..f !,;:IL.EE ,-hﬁ-(‘f (i
What is meanl by competition” q_Jlflg(;yglgr (Ei)
What is & fermente? Tetell 20 i)
Wil the names of two vectors used in genetic engineenng. .#_"Tfr.{'. ,-ff; u.J:LnJMJI fﬂ’i‘.&f (vl
What v thymosin? Write its use. --’;ﬂ.,,llr-*"ﬁ.ﬂ T.-g'_ LIL,"J-‘FU vl
iefine pharmncolagy, -2y AN G {vi)
Whiai mre antibiotics? Give an example. _%’;:_.gl_,.'ﬁ- ?U:E-I’J'&'h.?" {val)
W Ival i meant by vnccines? e H;lfa-;k'g [wili)

ul_.."',.-"‘f o9 £-J'-:.r _ggfulrlfn": ﬂ'ﬁ!a;d(j}'f ar.’l_,.)i.u-a.

Part - 11, .-"J.Ft-l::mpt any TWO quesm]-m Each question carries 09 marks.

Describe the structure of human Kidney. é’ et LrL!:r_ 1,-" Gl (i)
Write a note on thyroid gland, ,JuﬁzJ i’bduﬂ ()

What is meant by cartilage? Write its types in deuail, -i- uk.;—_HLJFJJI T;:‘fb; E&EF ()
Wrile & note on budding and fragmentation. S ALy bt b i Ey (L)

What is ecosystem? Explain its components. _£ = L:,,J e ARy Ve i Irﬁ 1 (i)
Wiile a note on application of fermentation. Lol ;{[,_Ji,.:r-gu.’:*} {.)
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=¥ -;Lﬁﬁﬂ'ﬂ%ﬂw&g;ﬂuﬁf&i&l&hﬁgl&;{dﬂk ﬁi’.’.{.m o ‘B -AaMkﬁng E,JI;- j
-&A&,wnimuif&rmmﬁw;@.ﬁ S 1
[ e ' ! — : : T 1
o C B A Questions [ =i g4
w | :-r.- e : f 4 ' - ] g §o oA & i
| =2 B | Phpadt | Mgtk BBl PUASA doenn| 1 |
' . . Asexual I Sexual Some invertebrates also reproduce through binary |
HWJIJEUE; I’D”Iﬂﬂ-"uﬂ I'Epmdl-ll.:uﬂn i m’“’;“ldﬂ Hﬂﬂi,un: ‘
S _.ﬁj_ BB 5 v | : T4 - ‘ PR =
s oy ger | ek L ndlifal Sl gyl !
| Licuna Collugen | Insubin.~ | Glicagon e matfix of cartilage also contains filbvers: |
-'“ - " R I s " o - -
S ;i 5 iy RS e .._,gif-_'f = ‘i’)ﬁ‘l{é_-.;bléﬁg}ﬂd.!ﬂf LI
' | i _ | On receiving essage from coordinators, the |
| Respunse Elfectory C'mﬁdikmll:lrj Keveplors ctors parfor action is called: |
3 Al j‘?"éﬁrf’—"' ,_ﬁ_;,.!l o3 :ugrﬁ:’iﬁ-ﬁu{ﬂn’_'u»f ,' 4 i
Panereas Thyruidl PMarattivraid Adlrenal T %ﬂﬂdﬂ are sitwled abave the };.dngﬂ;; | |
o L'___ Ty S o : N C o |. - H | 0
E,?a: i .,,fgf ;'r @\ - Cﬂwk.ﬂg;df:ﬁﬁmw:{;udﬁf 5 |
1 _ i Waste material that is removed by carnivorous plants | |
Mocilage | Resing Latex AN jand Indy finger is: S J
|t s o e el Mughei| ¢ |
L lumg ] Stomach Heart L Liver Al the alveoli constitute: d:._‘_._!
viak | B {ﬁ@) iu—'h,.‘ii,m.,f Biology-10 FBD-G2-(P- e | 7 I
, Which destroys nl 17.bm in
_f:lill'lzll_lrllufa ! Am?clpgsga | ﬁf;;h?ﬂms | l“.iiamﬁ;:;;ams gbéus »yf %Ee: pEvi"I:rnap [mage H_i;‘____ -
| Sdew | P Jan LA Size: 763 KB s
;_r:lnﬂj}.,ﬂ: Fungal ST - Bacteriad i eattle, goats aed Dirmension: 2350 x 2640 i“L,g
o O | Camdl | Kbtk |Large mamat il el o e |
| iy LLCPP .,ﬁr.o&f' it :g,gff.-‘:ﬁfﬁ.‘ﬁt.-':.'fdf .,;.'ﬁ!.:,gaf‘ m
: ey , : The expression of the genodype in the form of trait is | |
Recesive Fhaxminmn Fhenolyps Lty known ms: |
i W L L .1 i i ,
I\;J:lf.mk,all_{g"dl; ey g ! el fLPﬁhbﬁﬁufhf Tl i
Hl‘“f'-_ﬁf_ﬂﬂ_':_ll_l | Prowin Ovule 1 RNA ___|Chromatin material is made up ol - —
| VB | hurE | A | e wa‘dqéu;fw-ﬂm:ﬁ;ﬁw 12 |
| , Seminiferous | ., From epididymis, sperms move to a sperm duct is l
| Vas deferens | _tubules | Scminal vesicles Semer) called: s —— ]
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( Part-1 Jil4daa )

Write short answers to any FIVE paris. a£@W£F'I ﬁ;l,;f
DifTerentinte between ghodtis ardd epiglonis, 4;_,;};;[@&1{,_51, i)
Drefing Asthma and also write s syMplons. .ﬁ}fa.-mr_{;“l 'E.;E:-J {ii)
Dedine homecstasis. T e iy
Marne the plants from which resins, gums, latex and mucilage are ohiained, L0 Y w;m;;gf s};ﬂﬁr ;}::5;51 {iv}
Diatine halophyles with example. @:dﬁﬂwﬁqf}&ﬁﬁb vl
Crefine menbnges. Abso mention iis function, Ce LWL 2 il
Wit i mcant by ganglion? Te- ;;i_,.-*krg g.ig.f—‘f {vii)
infierentiale between aquesus hamor and vitresais humar, EmJﬁyLﬂﬂ;:m’m etk 1 vl
Write short answers to any FIVE parts, &Lpﬁ_ﬁ.{:ﬂm& e
Explali hinge josngs briedly ﬁ-mh:jﬁi }" f: i}

LifTerentiate between Nexor nivd extensor, . ub,_,_,.!wf ,,uﬂ [iil

wriiine siesker? @i 2 .ﬁlpi'_,-” aﬂ‘éw (it

. 1448 o
WL I8 bizsuee eudlure? T llAr  (iv

<
Whit s gynoedjuim? 0%{\%;% e &"""’h i Lvp

Define gene, TG @AFBD G- IfF' k i'i-"':-b AL i
Dretunie tramsladion, Al = ..*v',’:'d ._r""L':’.J {wii)
Exglain incompleie dominance ‘b[‘iI:‘IT:f-. | ‘ | Eutma p Ima ge Lﬁ.;.wmff{{—m"ﬁf
Write short answers (o any FIVE p. ESiIE. 84 KB - ..;[.lg,rjzpi:‘." S‘
Differentiote betwoen population and candmizhin Dlm snsion: 2330 x 3100 i JA;L':-'WI.;J i}
Wit is meant by predation? pixels e dolfe uL ¢ i)
Whit are transgenie animaly? —— | T@Lﬁbﬂisfwﬁ (ki)
Write two advantages af use of fermenters, e Bl L il
Whst 11 recambinant DNAT Te M%f A -la!'ur & PR
Dl dirug .#T -,ifjl_'r_lﬁl (¥l
¥élail ase sedatives? Givie an example, o b !‘*..ny’ Ld (il
Enullecentinie between antigens and nntibodies, £ J,i._ﬁgm_f-mumﬁr (wlal}

A 00 L el ziome 3 (gt
Iart - Il mmmpt any T'WO guestions, Eﬂl.«h quastion carries 09 marks,

Write  note on xerophytes and hydrophyles. ,é'_fﬂﬁwumwm (il
Wiite & nede on sutonomic nervous system. i_. y{ ri,.-f ¥e. 331 I:J..,i’;l'
Ldeseribe the components of human skeleton, 'g'.: W & ::if...?l ()
Explain male reproductive system of rabbir, -2 LB NG (L)
Drescribe the components af ecosystem, £ sl P r,l.-;" (i)

n#.fhw"‘ﬂkflardfw.fthl,;l.l"hl’t_ﬁ’.l_-" (e

Expliin the scope and importance of biotechnology in medicine and environment,
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